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12A18| B 0.30
12A28| R 0.30
12A38| % 0.30
12R48]| K 0.30
12A58| K 0.30
12H68H| € 0.30
12A78| = 0.30
12A8H| H 0.30
12898\ A 0.30
128108 X 0.30
12A118]| K 0.30
128128 K 0.30
128138 & 0.30
128148 0.30
12A158| B 0.30
12A168| A 0.30
128178 ® 0.30
12818H| K 0.30
128198 K 0.30
128208 £ 0.30
128218 0.30
12A228| B 0.30
128238| A 0.30
128248 X 0.30
128258 Kk 0.30
128268 K 0.30
128278 £ 0.30
128288 0.30
128298| H 0.30
12A308| A 0.30
128318| X 0.30

B B — — - — - - — - — — 0.30

= (& - - - - - - - - - - 0.30
AR - - - - - - - - - - 0.300
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12H18| B

12A28| A -0.031 -0.022| -0.024

12A38| X -0.028

12848| K -0.025 -0.020

12A5H| K -0.017 -0.030

12A6H| £ -0.009

12878|

12H8H| B

12A98| A -0.008 -0.017

128108| X -0.008

12A118| K -0.008 -0.016

12A128| K -0.009

12A138| & -0.008

128148|

128158| B

128168| B -0.053 -0.029| -0031| -0.010| -0.050

128178| X -0.057 -0.030

12A18H| K -0.060 -0.029

128198 K -0.061 -0.040

128208 € -0.061

128218|

128228| B

128238| A -0.059 -0.037

128248| X -0.058 -0.050 -0.048

128258 K -0.056 -0.047

128268| K -0.055 -0.040

128278 & -0.051

128288|

128208| B

128308| A -0.068

12A318[ K
B = -0.008 - -0.050 - -0.030] -0.047| -0.048] -0.016/ -0.020] -0.010[ -0.050 - - - - - - - - - - -
= B -0.068 - -0.050 - -0.040] -0.047| -0.048] -0.040] -0.031| -0.010] —0.050 - - - - - - - - - - -
H g —0.03762 — -0.05000 - —0.03500[ —0.04700] —0.04800] -0.02750] —0.02500] —0.01000] —0.05000 - - - - - - - - - - -
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12H818| B
12A28| A -0.023 -0.011 -0.005
12838 KX -0.020 -0.005
12848/| K -0.003 -0.020
12A58| K -0.007
1286H| £ -0.001
12A78| =
12H88| H
12898\ A -0.013 0.000
128108 W -0.010 -0.003
12A8118| K -0.019
128128 K -0.017 -0.027
128138 & -0.022 -0.023
128148
12A158|( B
128168| A -0.017
128178 % -0.025
12818H]| K 0.007
128198 K 0.000
128208| & -0.029
128218|
12A228| B
12H238| A
128248 X
12825H]| K
128268 K -0.005
128278 & -0.035 -0.010 -0.020
128288
128298| H
12A308| A -0.027 -0.004
128318| X
T B 0.007 0.000 -0.005 0.000 -0.020 — - - — — - -
= B -0.029 -0.035 -0.025 -0.010 -0.020 - - - - - - -
AHER -0.01375| -0.01589| -0.01300| -0.00467| -0.02000 - - - - - - -
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